

797101-9

✓

次の計算をせよ。

(1)  $(1 + \sqrt{3}i)^6$

(2)  $\left(\frac{3 + \sqrt{3}i}{2}\right)^{-4}$

$$\begin{aligned} (1) \text{ 与式} &= \left\{ 2 \left( \frac{1}{2} + \frac{\sqrt{3}}{2}i \right) \right\}^6 \\ &= 2^6 \left( \cos \frac{\pi}{3} + i \sin \frac{\pi}{3} \right)^6 \\ &= 64 \left( \cos 2\pi + i \sin 2\pi \right) \\ &= \underline{64} \end{aligned}$$

$$\begin{aligned} (2) \text{ 与式} &= \left\{ \sqrt{3} \left( \frac{\sqrt{3} + i}{2} \right) \right\}^{-4} \\ &= \left\{ \sqrt{3} \left( \cos \frac{\pi}{6} + i \sin \frac{\pi}{6} \right) \right\}^{-4} \\ &= \frac{1}{9} \left\{ \cos \left( -\frac{2}{3}\pi \right) + i \sin \left( -\frac{2}{3}\pi \right) \right\} \\ &= \frac{1}{9} \left( -\frac{1}{2} - \frac{\sqrt{3}}{2}i \right) \\ &= \underline{-\frac{1}{18} - \frac{\sqrt{3}}{18}i} \end{aligned}$$

